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Section A - MCQ

1) 73 thousands and 8 tens is the same as

2) 13 845 rounded to the nearest hundred is

(1) 13 800
(2) 13 850
(3) 13 900
(4) 14 000

?
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What is the missing number in the box?




4) What fraction of the shapes in the box are ¢ ?

Give your answer in the simplest form.
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5) In the number 145.67, the digit

(17
(2)6
()5
(4)4

7
6) Write 4% as a decimal.

(1) 4.27
(2) 4.035
(3) 4.35
(4) 4.72

is in the tenths place.



7) Arrange these numbers from the smallest to the greatest.

5709 5079 5799
Smallest Greatest

(1) 5799 , 5709 , 5079

(2) 5799 , 5079 , 5709

(3) 5079 , 5709 , 5799

4) 5079 , 5799 , 5709

8) Which of the following is a multiple of both 3 and 47?

9) Beads are used to form a pattern as shown.
How many beads will there be in Figure 6?
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Section B — Short Answer Questions

10) Write the missing number in the number pattern below.

14 000, 13300, 12600, 11900, , 10500

Ans:

11) Two factors of 6 are 1 and 6. What are the other two factors of 67

Ans: and

12) What is the remainder when 1064 is divided by 9.

Ans:




. 3 1
13) Find the value of 1 — 51

Ans:

5
14) Write 2; as an improper fraction.

Ans:

15) Express 0.6 as a fraction.

Ans:




16) Find the value of 4.23 x 8.

Ans:

17) 711 -4.38 =
Round your answer to the nearest 1 decimal place.

Ans:

18) In the figure, one of the angles is a right angle. Name the angle.

Q)

Ans: /




Section C — Problem Sums

19) At a concert, 13—0 of the audience are women and § of the audience are men.

The rest of the audience are children.
(a) What fraction of the audience are children?
[Leave your answer in the simplest form]

Ans: (a) [2]

(b) There are 180 more children than women.
How many women and men are there altogether?

Ans: (b) (2]




20) Amy, Ben and Clare share $1900 altogether. Ben has $145 more than Clare.
Clare has twice as much money as Amy.

(a) How much money does Amy have?

Ans: (a) (2]

(b) Find the total amount of money Ben and Clare have.

Ans (b) [2]






